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MID TERM EXAMINATION
H&hd (Third LANGUAGE)

T 26
fatis- 14-9-17 3% : 80
gvs (&)
1.T% Ueq I | Give answers in one word: (3)

% )Jee dul AT A 7~ AT
7 ) AT [99d & TEne o T-AEe
T)SIET= LW & Al /- e
T ) ST - ATABIIDBA ST o Bt 7-Freirie-TeatenT
2 Tf A AL | Give answers in one sentence: (6)
% )EITEY BT &l SHAR (- JAHTaIEy SaTAToThT TRl F e Sued |
3 AT A 2. GA-T2 99 [ g SToRs 7= AT 2T G- J0T 99 TR AT, ) STRAS |
T ) @ AT TR Hafe 7-Jfad e ader = e |
3 .Raen qad | Fill in the blanks with suitable words: (5)

§)113‘TW1%HT%[9EIW ————————————— & T 9T | T

4~ : Siag e e SO | Multiple choice question: (10)

% )-SaT= R & A ----------~ (= /g /qaras )gams

T )-gele BT A FETIHI Tl (-~ (IS /o farom /Sia ) qarae o
)-AECasamgETs e -~ (T [ugds /A= ) HEeE

)-TorR TeaTed 9 e R A I &g JEHe T--------- (3w} /ey arger

)-SR ST AT aTa v ¢ ~=------ (A [ AT [Feiga wEdgad

T

.(II

ﬁl(ﬂl

)~ T Fers EAMeRH AT T 7--------- (Femigas /e /3tvae ) stvae

% )-3AgTer Fs AT ARSI g /-------- (@R /& /7 ) @®

T )-Hrdad ST TE o A e SRt -~ (e /erTdTe T,/ 319ae ) TerTead,
)-galle F¥R AT Feh {------- (Srarere /qsras /s o

o )- A B HATT TR TG (=== (et /3gs /mameemms ) 3

5-SreNfoiRaa SIgMT 31 fead | write the meaning of giving words: (10)
& )-3FTRTE - HUZW T )-9qY - I

T)- AT -TguT q)-TE0M -Ta




% )-dad -ded € )~ 3T - AT
% )-3Ugdl ~3UHN B & A )-dAR- BT
3N )- S9N -1 72T & )-YuRIGH - §9 & fog
6—3“'{/:[ i ford | write true n false (5)
% )-TAATIIETY, ST &l SUARI - ==mmmmn=-= | (3T /) 3
9 )-fawages  Wages 30 #Ed - —————m—me- | (3m/q)7
T)-HEe, [T Y fava=r dea &g e - ---m-m-m-- | (3 /7)7
q)-Fecigee anagas’ 3 HA - ----m-mm- | (3w /)
T)-FWT T AT WA T AT - === | (3m/7) am
7-JE- e Siad ﬂ'@{ﬁ_\q foTEd | Choose n write the correct form of root from the box: (5)
o e o | D o1 R | (afereafer, wafey, s wieeafa
T )-BE T8 I —-mmmmmmmm oo | (379, Sesds, AYEsA,) HIEST
)-8 WA —----m=m === mmm oo | (FTrercts, 3R, T )Tt
R B o B L R | (gdfa, g7e, 3% ) &8
S [ R L R | (sAforerae frfereatsa, et ) et
8-3J& GICaIE] ﬁ%ﬁw ﬂ@ L) | Correct the following by given instrucions: (5)

% )-THI T HE AU e8| Tl
T )-q9 FLY aE | aHm
T)-gam faeed gt | d,qe%s
7)-0 7 ¥ ufowd | afewt
T )-a1 e | ATSaH
9-3TeNTRad YgMT [k S99 T foRad | Write the case and number of following words: (5)
% ) BHEAT - 92, Eam fdo 2 90
) Ay - f&dran o agao
T) T - Ut [90 THa0
) IS - qcnql fao agao

%) IA +FA -geal 7) a1 +f+ @ -fafore
11- [ﬁ]ﬁﬁﬁﬁf@ﬁ M 399 H@ g @ fo@d | write the root n prefix (3)
) AT -3 + T

T) GEM L+ &l




T) AERh -3 + =S
[@]Gﬁﬁﬁm e IR o %Tl'g' W Sl o | Join the prefix
R
T)- IA + A - I
12. [ﬁ]aﬁm ST Glres a1 %8 Idisjoin the sandhi:

)- T I +33
T)- O FOT + e
[@]ﬂﬁﬁm YET GTY BT o7& | join the sandhi
T)- &+ ERIGRE
q)- HIG+37aTe FHATgaTs
%)- @+ e
13 . STENfeRad Tenst afsan Rideys ™ saa |

Answer the following question based on the passage:

)

(5)

TdsdhIets. Wl | gde Qfeomar Ieaf | e ganios Tl [Hee e 9 gade Jef | afamr devas
AR AR | e = W B @A Hat | TerTyg gediT et Geee F e | dE ST S

T M G Al | e aarayy =&es, 778 g Wad |
(#)-Bu1 Frae Tt - fgon
(=)- e = Romam e (- qEieamEm
(1) -UTcAsTBIer TR Fhigel Hatd Jardrerol e, 798 9

(&)-goaioT g1 Tt 7 Zemy

18. mgq#ﬁmgmswfﬂrmal (5)

EIEF Mg TTeas
%‘c‘hm YA Y AT,
GRIE! AT AR EIBIRE
agdt e AL AL
ol EIBIE AL AYHTe
L EIBIE AT AL
qo I} AT Y




